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Credit Based IV Semester B.A. (HRD) Examination, September 2022
(2019 - 20 and Earlier Batches)
FINANCIAL MANAGEMENT

Time : 3 Hours Max. Marks : 100

Instructions : 1) A single answer booklet containing 40 pages will be issued .

40 P&ns e.otd VST TS, a?aabag QETBRMY .
2) No additional sheets will be provided.

oﬁag;ﬁ mﬁﬁ@f@ QEBRMPIY,

SECTION - A
SN - R

Answer the following (15 Marks). (3%x15=45)
B4 BINTYNYIY, YVZORD (15 03O BRT).
1) What is financial management ? Explain the scope of financial management.
TEITIRD VWF B DOTTEI ? BEITDRD VaSF T/FESOD) 339, YOI, ITORD.
OR/ege

Explain the sources of long term finance for a firm.
VT, 30 xoﬁmojw QO RN Lezarom BEITORTY, TTEO30= BUONTR),
DROR0.

2) Proforma Cost sheet of a company provides the following details.
B3 FPNT FOTIOD dzz T3,y B3 IPNT QTODNTIY e,

Elements of Cost Cost/Unit ()
ﬁzgs WERPORTVT LOBRD &, 00AEFT dzgs
Raw material 140
CISDENGS

Direct Labour 120
3eTBRS

P.T.O.
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Overhead
z0eeies
S

Total cost per unit
T,3 RN T idd W
Profit

oY

Selling price

SIoTE3 W33

The following particulars are available
B3 SN QTWOOND @?438535.

100

360

40

400

a) The proposed level of activity is 15000 units.

VZITIOD 7T 15000 CIREFTIED.

b) Minimum cash balance ¥ 20,000.

TR, T,BREDT INT @38 e 20,000.

c) Raw materials are expected to remain in stores for 2 months.
MRETOTY FWF[A QT &T/H 2 SoNs0.

d) Material in process %2 month.
T,NS00YTO XTBO V2 Sonsd.

e) Finished goods in stock for 1 month.

%C?Dﬁ.@ow TRONY Je0Tm 1 Sonsh.

f) Credit allowed by suppliers 1 month.

TOONTY VERT FOT &= 1 Soned.

g) Credit allowed to customers 2 months.
Mo, BFON QERT AT Q) 2 oM.

Prepare statement showing estimation of working capital requirement.
T, BO00T WORTIPER), BOTRD [RBT FLEF0LFRY BoIROD.

OR/egw»

Explain the factors determining capital structure of the firm.

emcssm xoﬂmoja WOTTOP 6235033:% QPFORORN e:oosmf?p& NWOR0D.
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3) Explain the factors influencing the working capital requirement of a firm.
QVT, 0 Sof&oja d@so@s wocgmems%{ QPFOROR @osmfmq NOR0D.

OR/eg»

The following details are available relating to a project.
TR, T} WOWOTITLS DTTNE B3 FENT0SS.

Cost of the Project % 6,00,000
d@ﬁ"fﬁd S d?éj
Life of the project 5 years
TP, WE T W[
Method of Depreciation Straight line method
833,2030e35° wcg;%

Year Cash inflow P.V.ofX1 @12%

SN WETOFR) 12% <e81Te i P.V.

1 1,30,000 0.893

2 2,00,000 0.797

3 2,20,000 0.712

4 1,80,000 0.636

5 1,20,000 0.567

Compute the following.

i) Payback period
e PR R

ii) Average rate of return
QRRTELF Teed® &° DU F

i) NPV at 12%
AT QD 12%

iv) Profitability index at 12%.
RS 20T 12%.
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SECTION - B
QRN - W
Il. Answer any six questions (5 Marks). (6x5=30)

CINR)TIITTH BT @%ﬁ%’aﬁ% SVZORD (@80&@05&@55 E0BNEY).

4) From the following calculate EOQ.
35 3INT DRDONPo EOQ 33, 30mLBOAD.

Order size (in units) 1600, 800, 400, 200
AT T3 CRRIL N,

Annual consumption 1600 units

TONET WHF

Ordering cost %50/ order

ROD 3T,

Carrying cost %1/ unit

9, 007 d?:g’j

5) Calculate financial leverage, operating leverage and combined leverage
from the following.

q—é’dmgojaef , e33O TONS %’oz%a; eﬁwdemmq FORILBONO.

Sales — 10,000 units at ¥ 15 per unit

SRTW - 10,000 co0ees, Tn. 15 T,8 0oeeF R
Variable Cost — % 9 per unit

53 33, - TR. 9 B,8 0 R

Fixed Cost — % 20,000

QoF 0T %, — dw. 20,000

Interest - 310,000

W&, - ow. 10,000
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6) From the following capital structure of a company, calculate weighted

average cost of capital.

FYTOR TOTIOD WOTOP TWIIV0T %eww QWTeeTE WX ST @@@3@@{

FOTRO BOW0.

Sources Amount()
TOROND R03 (TR)
Equity shares 12,00,000
933 FeTON

Preference shares 6,00,000
PO WeTONED

Retained earnings 4,00,000
YURRTS oY

Debentures 3,00,000
ROTE,

7) Write a note on profit maximisation.
‘MO o33’ BOOB LTS WTB00.

8) Explain the capital budgeting process.

After tax cost of capital
830 T° INOSTT WORTY 328
3 A 2
18%
16%

17%

14%

20RTY T0OME TY,'B T8,000D), DFOKO.

9) Explain the motives behind holding cash.
SNTIY BRODTO mzf&eéﬁe;s% DWOD.

10) Define cost of capital. Explain the different concepts of cost of capital.
WOTTOFT 5@5@{ 339,839, QA0. WOTZFT ﬁ?gdcﬁ AN} 565%571@;5%{

NRORD.

11) What are the stages of operating cycle ? Explain.
STTELON FTS'T TOSTED C3REYY ? TORO.
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SECTION -C
QN - 2

lll. Answer any 5 questions (3 Marks). (5x3=15)
CINTYTIWIR TN T, NFS) YWZOR0 (T, S03R0T8R, 3 LOFND).
12) State the techniques of inventory management.

AT TR0 ATWF R IOT, NYSY S9AD.

13) Write a note on preference shares.

T3, B0 WeTON i} €533 LT0.
14) What are the costs of extending credit ?
QVTO DFTEBN TOWORAT ﬁzgsmfo C3PR)R) ?
15) What are the advantages of bank credit ?

e 033 TOOT OTTRLINGD OTNRR)R) 2

16) Write a note on retained earnings.

a&@aﬁ ESQEOTTY 27 833369 WTCA0.
@ a) [N}

17) What is wealth maximization ?
Sl TS ﬁ@a%ﬁm@m&% QOTTE0 ?
18) A Company issuesI 50,000, 8% debentures at par. The tax rate is 40% Compute

after tax cost of debit.
2 BOFTAOXO Te. 50,000 He2T 8% w%@dd m@a@ss% RRTE WRRT. 65,5

Sees® 40%. &3,3° TOTTT FOTT, T 3eFR[T, FOTILEOI0.
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NN - &

IV. Answer all the questions (1 Mark).
3 EINT A @5;71@7? YV ORD (@@oﬁmoda@é 1 ©03n%d)

19) Expand ARR
ARR 33 230%.

20) What is dividend ?
COLIVOT DOTITERY 2

21) What do you mean by equity shares ?

QB £3 HeTONTL 0TTed ?
22) What is cash planning ?
JINT BREWS DOTTEID ?

23) Give the formula to calculate EOQ.
EOQ 5030 &R0 Arg,BI, 998

24) What is time value of money ?
@%w CNORSTORISEVIONIY QOTTEID 2
25) What is reorder level ?
O SBET ST DOTTEI ?
26) What are receivables ?
DRTCW® ROTITER0 2
27) What are mutual funds ?
TDTHOT QY DOTTED ?
28) What are current assets ?
TROT SANK TR ?

HRDHRC 255

(1 0x1=1 0)



